
Josef	Gebker,	Alfred	Zamhoefermit	einzelnen	Noten	und	Kombinationen	verschiedener	Noten	spielen
Posaunino	2	-	rhythmische	Übungen
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Seite	44	-	Rhythmusfiguren	mit	Achtel-	und	Sechzehntel-Noten	

Seite	24	-	Die	Sechzehntel-Note	und	die	Sechzehntel-Pause
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Seite	64	-	Der	6/8-Takt

Seite	52	-	Die	puntierte	Achtel-Note

Seite	44	-	Rhythmus-Duett
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Seite	109	-	Die	Achtel-Triole

Zähle:			1							+						2							+						3																4													1						+							2							+							3						+							4

Zähle:		1								+									2								+								3							4														1									+								2									+								3								4

Seite	97	-	Die	Synkope
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